Efficiency vs P,

+0.05
o

9.045F
> -
2 0.04F
] o
D.035F
5 F

0.03F
0.025E

0.02
0.015F
0.0
0.005F

.................................................

................................................

................................................

Ratio

1QF

Lo

-

A

a—— [
—He -
pt—. . ... E

1(;*1 1 10 prT (Ge\})o3

MKFI_T1base

—=— DOQM_]

—e— DOM_mKFit_TT retrainOldFiles125

—— DQM_mKFit_TT retrainNewFiles125

—— DOM_mkFit_TT retrainNewFiles125AndSQCD

o 0.1
£0.09
20.08
£0.07
0.06
0.05
0.04
0.03
0.02
0.01

clency

et

1QF

...............................................

-
Le®
-_-

Ratio

1.1

[y
TTTT

0.9t

Efficiency vs ¢

£0.05
[
2.045
2
$0.04
(5]
$.035
(9]
0.03
0.025

e AN AR ERRRN LR RN PR RS LR




	Contents
	Page 1


